Exercise 1: Draw the waveform of an OOK (ASK) signal. Show Lecture 13 Exercise Solutions

the periods of the carrier and the modulating signal.
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Exercise 2: Label the other three points in the constellation " 3 \
diagram with the eqguation of the signa| that corresponds to 4 ‘
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Exercise 3: Draw the constellation for 8-PSK. o O “,5%:-

Exercise 4; If the | and Q modulating signals have symbol ( I { £,
rates of 2 MHz, what is the minimum bandwidth of the | and Q \ <
channels so that there is no 1517 What would be the bandwidth ~ - X MO.L-IM Letsa

fJ .

of the modulated (RF) signal? What are the spectral efficiencies
(symbols/second/Hz) of the baseband and of the modulated
signals?
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Exercise 5: Assign gray-coded values to the 8-P5K constella-
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tion.
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